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BUS 2C 15—MANAGEMENT SCIENCE

(2013 Admissions) |
hree Hours ‘ Maximum : 36 Weightage
Part A

Answer all questions.
Each question carries 1 weightage.

le Quantitative approach.
s Mathematical model ?
Infeasible solution.

Slack variables ?

(6 x 1 = 6 weightage)
Part B

Answer any six questions.

Each question carries 3 weightage.
plications of LPP in management.
e of Poisson and Exponential distribution in Queuing theory.

 of finding initial basic feasible solution for the transportation problems.
b and why ?

programming and integer programming.
d for solving 2 x 2 game.,
of stimulation,

/€ in determining optimal service levels. Elucidate this statement

earch in decision—making ? Explain.,

(6 x 3 = 18 weightage)

Turn over
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Part C

Answer any two questions.
Each question carries 6 weightage.

the difference of smallest and second smallest element signifies in case of solving

tation problem with VAM method ?

ny which manufactures three products A, B and C requiring two resources SR

and want to determine the optimal product mix that maximizes profit the following
ram was formulated to answer this:-

e Z =3 X, + X, + 5X,

ject to 6X; + 3X, + 5X; < 45 (labor)

| 3X, + 4X, + 5X; < 30 (material)

are the units of products A, B, C product. Find the optimum product mix.

shes to assign 4 ships to patrol 4 sectors of the sea. In some areas ships are to
illegal fishing boats, and in other sectors to watch for enemy submarines, so

each ship in terms of its probable efficiency-in each sector. These relative

B C D
60 50 95
’30 80 75
100 90 80
80 75 70

in, the commander wants to determine the patrols assignments

ficiencies what is the optimal assignment ?

(2 x 6 = 12 weightage)
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